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1 g Questlons
o 20 Marks

: NSTRUCTIONS TO _CANDIDATES
Do ot opeh_ihls‘ hooklet until you are’ told to do so

_6hs carefully

You aré not allowed to usea calculator



5. ABC is an isosceles friangle. What is the area of the triangle?

10 cm

(1) 18cm?®
2) 22cm?
(3) 30cm?
4) 36 cm?

6. Find the value of 8—2.5.+4.9+7.

(1) 657
2y 7.20 .
(3) 13.50

(4) -16.25' '

e 7 Jack had 30 orange 24 green and 21 yellow marbles What: percenmge
o Qf_bls marb!es was green‘? o

e

L@ 8%
(3) . 32% o

@) - 40% -
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Booklet A

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 camry 2 marks each.

For each question, four options are given. One of them is the correct answer.

Make your-choice (1, 2, 3or 4). Shade the comect oval (1, 2, 3 or 4) on the Optical
- Answer Sheet. ' (20 marks)

1. In3519742, the value of the digit'1’is

(M 1x1000

(2) 1x10000
(3) 1x 100000
(4) 1x1000000

2. 9L 2mt =
(1) 92¢
2 902¢
(3) 9.002 ¢
@) 9.0002 ¢

3. How many ninths are there in 2% ?

(N 12
B 20 i
3 2t
O

4. Shidy the Tollowing ninber ing carefily, Whatis the value of N7 -




5. ABC is an isosceles triangle. What is the area of the triangle?

A
10 cm
a c
B 6 cm
(1) 18 cm?
) 22cm?
(3) 30cm?

4) 36cm?

6. Findthe value of 9—-2.5+49+7.

(1) 6.57
(2) 7.20
(3) 13.50
@ 1"6;25 |

7. } Jack had 30 orange 24 green and 21 yellow marbles What percentage

of his marb!es was: green? A

S ;-,24%._' e
@ 2%
e e
@ %
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8. Ii of a pizza was shared among 3 children.

What fraction of the pizza did each child get?

3
T

@ =
@) 1L

@ 2

9. In the figure below, not drawn to scale PQRSis a paral!elogram.
Find ZRQT. .

Ly 220
@ 2

4 0; '~"f=_"'3,J|Ily is’ 15 years old now: and her father is thnoe as old What was ~
L f'.the ratlo of Jlllfs age t. herfathel’s age 5 years ago7 S

4)

PS5 Math SA2/Paper 1 2013 . 3






11.  For every carton of fruits that Bob sold, he received $2. He eamed an extra
bonus of $10 for every 30 cartons sold. How many cartons of fruits did he sell if
he received a total of $807

1y 25
(2) 30
(3) 35
(4) 40

12. 53;- of the cups and % of the plates were sold. Equal numbers of cups and plates

were sold. What was the ratio of the number of cups to- the number of plates at

first?

(1) 3:2
2) 8:5
(3) 15:16
(4) 16:15

13. _ The table below shows the standé(a taxi fares and charges.

. [Flag-downfee ]$3.20
Eve;y 400m. : 2ﬂcents o

" How much should Billy pay for a joumey of 8 km? =

- $a40
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14. A bottle contained some water. Sam poured all the water from the bottle into an
empty jug. The jug became % full. The jug can contain 3 times as much water

as the bottle. What fraction of the bottle was filled with water?

A1) —

(2)

SN

¢ -

4

) |

15.°  Each of the figures below is made up of 16 squares. Four squares in each figure
are shaded. Which figure is not a symmetrical figure?

1 F e

M
e

W N e
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Booklet B
Name: ( } Class:P5SY/C/GISE/P

Questions 16 to 25 carry 1 mark each. Wiite your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (10 marks)

16.  Express % as a decimal, correct to 2 decimal places.

‘Ans:

17. 4kmbom= m

Ans: m

18. A TV set cost $3600. There was an additional 7% of GST. How much was the
GST? _

- 19.” In the f gure below not drawn to scale the penmeter of tnangle ABC 3r.om.
T Fmd the ared of tnangie ABC.. L * '

Do not write in

-} this column
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20.  There were 126 girls in a kindergarten. 58% of the pupils were boys. How
many children were there in the kindergarten?

Ans;

21. Mandy had % kg of flour. She used some of the flour to bake cookies and had

% of it left. How much flour did she use?

Ans: kg

2. Ahmad had an equal number of $2 and $5 notes. The value of all the notes
$119. How many $2 notes did he have?

Db e

Do not write in
this column

‘ 23 The ratio of the mass. of Allce to Bob was 1 5 The ratlo of'the mass of Bob tol»:'.--‘ N

- Cindy was 7: 2.Find the ratio of the mass. of Altoe to the mass:of Bob to the
mass of Clndy. o :
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Da not write in

24. A triathlon was 36 km long. Toim had to swim % of it, cycle % of it and run the | ™™ *m

remainder of the raée. How far did Tom run?

Ans: Km

-25.  Each ofthe 3 cards bélow is printed with a different who'le.' number. They are

arranged from the biggest to the smallest. When two numbers are multiplied

together, the products are 200, 50 and 100 respectlvely What is the
biggest number?

-7 biggef‘.st..--:._‘ '

-smallest.

Ans: 2
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Questions 26 to 30 carry 2 marks each. Show your working clearly in the space for
each question and write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (10 marks)

26. Andy had $28 more than Jordan. After Jordan had spent $26, Andy had
4 times as much as Jordan. How much did Jordan have at first?

Ans: B

27. . The ratio of the number of Sally’s stickers to the number of Jane’s stickers
was 1 : 3. After Jane had given 28 of her stickers to Sally, the ratio became
3 : 2. How many stickers did Sally have in the end?

- .Ans:

g I 4 club, the (atio of the number of boys to glﬂS was 2 : 5. After 21 boys and 21 gnrls

ln the ciub |n the end7

. ) had jomed the club, the ratio of boys to g:rls became 3 4 How many gms were there

Do nof wiite in
this column

. P5 Math SA2/Paper 12013 9




) Do not write in
29. A packet of candies cost $4 and a bar of chocolate cost $6. Mrs Tan this column

bought some packets of candies and bars of chocolates in the ratio 3:2. She

paid $48 in total. How many bars of chocolates did she buy?

Ans:

30 __Peter tost 50 of his marbles in the first game. He lost % of the remaining

marbles in the second game. He was then left with % of the oﬁginal number

" of marbles. How many rﬁé_rbles did Peter have at first?

End ofPaper1 P EE T R e I
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Lionel, Mike, Nathan and Pat participated in a contest. Mike scored the least
aumber of points in the contest. Lionel scored more points than Mike but
fewer points than Nathan. Pat scored fewer points than Lionel but more than
Mike. Who scored the most points in the contest?

Ans:

3. Rose bushes were planted along each side of a square plot of fand so that
an equal number of bushes were found along each side of the square plot.
If there were 32 rose bushes planted, how many rose bushes were there
along each side of the square plot of land?

PS Math SA2/Paper 2 2013 2




Questions 1 to 5 carnry 2 marks each. Show your working clearly in the space below
each question and write your answers in the space provided. For questions which
require units, give your answers in the units stated. " (10 marks)

1. The diagram below is not drawn to scale. Find Z BAE.
o _ A

- Ans: . ‘ e

2. . Atasale, a potand a frying pan cost $105.90. The frying pah cost $50.50 more
~than the pot. If the usual price of the pot was $80, how much did she save on
the pot? e

Ans: $

“muich a5 Moly: Rita arid Mol hai $600. How mush did Peter have? | ©

Do not write in
this column

Peter had some money. Mol had a5 muctias Poter Rita had S ines as * |
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Lionel, Mike, Nathan and Pat participated in a contest. Mike scored the least
number of points in the contest. Lionel scored more points than Mike but

fewer points than Nathan. Pat scored fewer points than Lionel but more than
Mike. Who scored the most points in the contest?

Ans: -

5. Rose bushes were planted along each side of a square plot of land so that.

an equal number of bushes were found along each side of the square plot. -

if there were 32 rose bushes planted, how many rose bushes were there -
along each side of the square plot of land?

Ans:

PS5 Math SA2/Paper 2 2013




Do not write ir

For questions 6 to 18, show your wortking clearly in the spa'ce below each question this colmn

and write your answers in the spaces provided. The number of marks awarded is
shown in brackets [ ] at the end of each question or part-question. (50 marks)

6. The average savings of Cindy and Dan was $2500. The average savings
of Eden and Cindy was $3000. {f the ratio of Dan's to Eden’s savings'was
9 : 11, find Dan’s savings.

Ans: ' [3]

7. Mr Lim had 90 pieces of 20-cent, 50-i_:ént 'and $1 cbj,nsi-

lof them were 50-cent coins, %of the remaining coins were 20-cent coins and

. the rest were $1 coins.How.much money-did MrLim have in all?

Ans: f31

PS5 Math SA2/Paper 2 2013 ' 3



»

- Do not write in
8. A bag cost as much as a T-shirt. Five T-shirts and 4 caps cost $31. Four caps | s columa

and 3 bags cost $25. How much did 1 bag cost?

Ans: | [3] :

-9 Diana spent % of her money on ribbons and % of the remainder.oh 4 boxes. -

One box costf$3. How much money did .she have at first?

PS5 Math SA2/Paper 2 2013 4




Do not write in

10.  The number of pupils in Group A was 4 more than the pupils in Group B this columa
After a test was given, 72 pupils graduated from Group A to Group B.
The number of pupils in Group B became thrice as many as those in Group A
How many pupils were there in Group A at first?
Ans} R B

" 11.  Carl, Don and Ed sold donuts at a funfair. Cad sold % of the total number of

donuts. Don sold — of the remamlng donuts and Ed sold the rest Carl sold

40 donufs Iess than Ed. How many donuts d:d the 3 boys seli?

Ans: [41 ||
7
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4] Do not wiite in
this column

12.  The graph below shows the favourite fruit of a group of pupils.

90

Number
Of pupils

a) What percentage of the total number of pupils liked cherries?

b} 95 girls participated in tie survey. “What percentage of the boys took part in the ]

~_survey?

O Ans)

o[ ZI
‘ 4
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13.  In the figure below, not drawn to scale, ABCD and AEDF are rhombuses. gfs‘gluwmm: "
Find ZAFD.

B

Ans:____ 4]

14. Ahmad had 3_albums, P,Q and R. Abbum P had 4 times as many stamps
‘ as Q. He fransferred 5 stamps from P to Q and 8 stamps from R to Q. In

the end, all the albums had an equal number of stamps. How many
stamps did Ahmad have?

PS5 Math SA2/Paper 2 2013 ' 7



. Do not write in
15.  The cuboid below has a square face Y and a rectangular face Z. this column

The areaof Y 15 % of the area of_ Z.

Find the volume of the cuboid.

12 cm

191

Ans: [4]

PS5 Math SA2/Paper 2 2013 8




Do not write in
16. In the figure below, not drawn to seale, the area of each of the 5 smaller this column

similar squares is % of the area of M. N has an area of 900 cm?®.

(a) Whatis the area of the figure ABCD?

A ' B

D C
Figure l"I, not drawn to scale, shows a rectahgle, ABCD [t is folded as shown
below in Figure 2. AC = 12 cmand AB =30 em.

(b) . Find the area of the shaded triangle as shown below.

2
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17. Each diagram in the sequence below consists of a number of circles. Do aotyaite in

this'colurmn
® S 06 ¢ 0O &6 00
09006 60 ® © ® ©
‘Number © 00| © ®
of circles ©0 00 @ o |6 °
- | 0000 |0 e
e0e 0000
Diagram 1st 2nd 3rd 4th

(@) Refer to the above sequence and complete the following fable’ below.

Diagram 1st ond 3rd 4th 5th
Number | g 10 14 18 ?
| -of circles i }

(b) Study the number pattern and write down the number of circles in the 15
diagram.

() Which diagram has 102 cigates?

@
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18.  Alan had thrice as many stickers as Yvonne. After Alan and Yvonne ot write i

had given 40% and 20% of their stickers to Wendy respectively, the

number of stickers that Wendy had increased by %- -Wendy had 1680

stickers in the end. How many stickers did Yvonne have in the end?

‘ End of Paper 2 /
~ Please check your work thoroughly. ~ 5 |
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Singapore Chinese Girls’ School 2013 Primary 5 Mathematic SA2

Paper 1 - Booklet A

S

B

. " ST Stainps (P24 tamips; G- 6 sarips; R =27 stamps atfist) -

- --_@-qunne;had

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
2 1 3] 4]l 4]l 1] 213711137 3t4ia]21a4
Paper 1 - Booklet B
16 0.38 17 4005 m 18 $252 19 42 cm®
20 300 children 21 715 22 17 23 A:B:C=7:35:10
247 21km 25 20 26 $44 27 48 stickers
28 36 girls 29 4 bars of 30 250 marbles :
chocolate
Paper 2
1 LABE =30° + 44° = 74°, £ BAE =180°-46°-74° = 60°
2 sale price of pot = ($105.90 - $50.50) / 2 = $27.70; Saving on the pot = $80 - $27.70 = $52.30
3 $300
4 Nathan
"5 7 Number of rose buahes =32/4+ 2-overlappjng at each comner = 10 rose bushes
6 total savings of Cindy and Dan = $5000; total savings of Eden and Cindy = $6000
Eden has $6000 - $5000 = $1000 more than Dan; 11 — 9 = 2 units - $1000
‘Dan’s savings =9 units -» $1000/2 x 9 = $4500
$52.20 - '
‘8 cost of 2 T-shirts ¢r bags = $31 - $25=$6; 1 bagcost=$6/2=§3
s  s30 . |
. 105‘ B Aﬁ:pu'p_ile atfirst” - .
112 donuts'.' sold :
120 '.( a)-’ 20% . ,(b) sz%
LADE = £ DAE LFAD A FDA 180° 72 68 = 40

L AFD = 180° A0 40°F 100°

area of square Y '—1—12 X 12 ':-144-cm - area’ of rectangular face Z 14-4 12 X 5 360 cm
Iength of srde Z 360! 12= 30 cm; volume of cubord 30 X312 1 2 4320 cm

='4500 cm’

92 gickars (Alan had 432 strckers Wendy had 1680 |n the end)
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